Richtige Antworten:

FICHTE: 1ABC; 2B; 3B
ROTHIRSCH: 1C; 2B; 3B
EICHE: 1C; 2B; 3C
EICHHORNCHEN: 1B; 2B; 3B
PILZE: 1C; 2A

BUCHE: 1A; 2B, 3C
BUNTSPECHT: 1B; 2ABC; 3B
TANNE: 1A; 2B

ROTFUCHS: 1B; 2A; 3C
ERLE: 1A, 2B

BEEREN: 2AC
WALDAMEISE: 1A; 2B; 3ABC
DOUGLASIE: 1A; 2B; 3BC
WILDSCHWEIN: 1A; 2BC; 3A

BIRKE: 1A; 2B

KIRSCHE: 1B; 2C; 3AB
LUCHS: 1A:; 2B; 3BC
LINDE: 1A; 2AB; 3AB
REH: 1A; 2A; 3A
KIEFER: 1A; 2AB
WILDKATZE: 1C; 2B; 3B

EBERESCHE: 1B; 2C; 3B
UREINWOHNER: ABCD

ESCHE: 1C; 2C

DACHS: 1B; 2A; 3AC
AHORN: 1B; 2B; 3A
WALDKAUZ: 1B; 2A; 3A
LARCHE: 1C; 2C; 3B
ERDKROTE: 1A; 2B; 3B
HASELNUSS: 1B; 2A; 3A
BLUMEN: 1A; 2B
HAINBUCHE: 1A; 2B, 3B
NACHHALTIGE
FORSTWIRTSCHAFT:
1ABC; 2AB; 3AC, 4B; 5B;
6C; 7AC; 8ABC; 9BC,

10BC; 11C; 12A



